g, AN 7P 2 AR &

3 +12 @ -14 ® +9

rr



~ X =
[} 0
o_o + (I
~ T 2 =
I | | I +
I I I Il I
N S i ™
L £ L £ 4L
+ 4+ + 4+ +
= 9 &~ =& ¥
I | + I +



3.

CHa Aol A Aldte] E1 A27

@ (-1.2) = (+0.5) = -1.7

(4)-(+1) s
o (5[



4. -6+3-11+8 & AAstolat.



olJ

o}
dlig
Nfo

ojn

® -5 Hrt2

® —2Htt4



6. t= H5ANAM Q, Ol 20 A4 HAS &A= Aol

>

|
n
&L
X
R
len
S—
X
-
[
s
X
T
i
©

IR
+
w
N—
X
[
U= WINY 3
X
[
U= =

SN—
Il
(S (1)



T a, boll skl a = (—%) +(=22), b= (+14)x (—§) + (+1)

7 9
o W, axb o] = Fotefet,

5 S
=%



8. FFabodoldaxb<0,a>bE U ot} F 7FF E =2

D a @ b ® a+b @ a-b ® b-a



424 919 H A, B, C, D, E7F UEHE= 582 22 ¢

@

©)
@
®

A B C D E
-4 -3 -2 -1 0 1 2 3 4



10. %24 glol4 -6 3 theate Ak +2 of Bgshe dolA 2
Aelol Qi 45 ot

® -3 @ -2 ® -1 @ 0 ®1

rlo



RS
>
=2
o,
it
rr
M
)

N
N
My
&
PN

I

o

Il

—_

o
me
=

o



12, th IgA A Hel 391 o] 5] o] BF PrE s @, 00
A AR AR 22

D @:-2,0:6 @ @®:2,0:6 ® @®:-2,0:0
@ @:-5,9:3 ® @:5,0:3



13.

D_

@

<_l
12

| Ut

) — 1.5 o4 [ ] ool otur

11
®E ®1



14.

Lol olE R4 a8

sof st FEete] 2 oA My -2

of HAtt. vEA ALt AS A1=w?



@ (-1)% < (-2)*

@ 10% < 10°






17. b5 AT lM AHEE A Z E

()X 5+ D)3

=(—4) xé+(—4) X (—i)+

1

_(_2 1l
—(—3)+3+

3

—34(=2)4 Ll
=3+( 3)+3 —

=3+{(—%)+

=3+ (2}
~(vh)

ONCOREEE

@ (@ -

1

3

)
(h

rr

L Jon

3

2



18.

e 524604 A A, B oA

Ze Ao Y= A C o He

she SE?

4 3 2
®_B ®_E ®_T5

<>

—_
ot

|~

L Jo!

o ¢ g



19.

M2 e F 189 a, b ol tiste]
aab = (a, b T 0°| A 7W7k& 5,
avb = (a, b % 0°]A & )

2 gogn, (-2 {(+3) v (-3)} o mer



20. A, B o] Adigte] 9= +stofzt

A -sRg s Bes
7 4

B: —Lfwg_Zgex
173 "




21. AE2HE 4+ A B C D7IHae U5 0, A, B, C, D S dix

YAE v Erd 227

e B = 2Foltt

e D = B Bt} &t}

L AL 5 F b A,

e A SFC & SEAG dee o, 987t ) A7t 2t

® A<B<C<D
® A<C<B<D

® D<B<C<A

@ A<D<B<C

@ A<D<C<B



@ +4 ® +5







1 7 _
24. axb>0°l1 la = ¢, bl = 15 L W, a+b o] T2 Fotefet

> S
=%



25
. thee
= AAteteizt

-




